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URE=S

— ~ 122X python HY4RHS

import math

# ERITE

def find_solutions(n):
# STEGHIME - E=UEMRVER 3*n-8
right side=3*n-8

# GEFATRAE

solutions =]

# {0 (3 * n - 8)sERFTA AR
#math R B R (A (L
for b in range(3 * n - 8):
for c in range((3 * n - 8)):
for d in range((3 * n - 8)):
for e in range((3 * n - 8)):
for fin range((3 * n - 8)):
for ain range(3 * n - 8):
# mE RS HEsHIFTE R
if b + 2*c + 4*d + 5*e + 6*f == right_side and
atb+c+d+e+f==n and d+e+f>0 and a+b+c+d+e+f<23:
solutions.append((a, b, c, d, e, f))
return solutions

# = n=2 F| n=13 (AT f#
for nin range(2,14):
solutions = find_solutions(n)
if solutions:
print(s n={iF - 5 {§ 4HfE:".format(n, len(solutions)))
for solution in solutions:
print(solution)
else:

print(" A F n={FHf#" format(n))
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= R AR

FRAE] n=2 AU

FRAE] n=3 IFHIEE

FRAE] n=4 WA

B on=5 > 47 5 4

(3,0,1,0,1,0)~(3,1,0,0,0,1) ~(2,1,1,1,0,0) ~ (2,2,0,0,1,0) ~ (1,3,0,1,0,0)
B =6l > 47 14 4R

(4,4,0,0,2,0) -~ (4,0,0,1,0,1)~(3,0,1,2,0,0) ~(3,0,2,0,0,1) ~ (2,0,3,1,0,0) ~
(3,1,0,1,1,0)~(2,1,2,0,1,0) ~ (2,2,0,2,0,0) ~ (2,2,1,0,0,1) ~ (1,2,2,1,0,0) ~
(1,3,1,0,1,0)(1,4,0,0,0,1)~(0,4,1,1,0,0) ~ (0,5,0,0,1,0)

B on=7 1> 4 23 4R

(4,0,0,2,1,0)~(4,0,1,0,1,1)~(3,0,2,1,1,0) ~ (2,0,4,0,1,0) ~ (4,1,0,0,0, 2) ~
(3,1,03,0,0)~(3,1,1,0,2,0)~(3,1,1,1,0,1) ~ (2,1,2,2,0,0) ~ (2,1,3,0,0, 1) ~
(1,1,4,1,0,0)~(3,2,0,0,1,1)~(2,2,1,1,1,0) ~ (1,2,3,0,1,0) ~ (2,3,0,0, 2,0) ~
(2,3,0,1,0,1)~(1,3,1,2,0,0) ~(1,3,2,0,0,1)~(0,3,3,1,0,0) ~ (1,4,0,1,1,0) ~
(0,4,2,0,1,0) -~ (0,5,0,2,0,0) ~(0,5,1,0,0, 1)

B n=8 Iif > 477 41 4

(5,0,0,0,2,1)~(5,0,0,1,0,2)~(4,0,0,4,0,0) ~(4,0,1,1,2,0) ~ (4,0,1,2,0,1) ~
(4,0,2,0,0,2)~(3,0,2,3,0,0) ~(3,0,3,0,2,0) ~(3,0,3,1,0,1) ~ (2,0,4,2,0,0) ~
(2,0,500,1)~(1,0,6,1,0,0) ~ (4,1,0,0,3,0) ~ (4,1,0,1,1,1)~(3,1,1,2,1,0) ~
(3,1,2,0,1,1)~(2,1,3,1,1,0) ~ (1,1,5,0,1,0) ~ (3,2,0,1,2,0) ~ (3,2,0,2,0,1) ~
(3,2,1,0,0,2)~(2,2,1,3,0,0) ~ (2,2,2,0,2,0) ~ (2,2,2,1,0,1) ~ (1,2,3,2,0,0) ~
(1,2,4,0,0,1)~(0,2,5,1,0,0) ~ (2,3,0,2,1,0) ~ (2,3,1,0,1,1) ~ (1,3,2,1,1,0) ~
(0,3,4,0,1,0)~(2,4,0,0,0,2)~(1,4,0,3,0,0) ~(2,4,1,0,2,0) ~ (1,4,1,1,0,1) ~
(0,4,2,2,0,0)~(0,4,3,0,0,1)~(1,50,0,1,1)~(0,5,1,1,1,0) ~ (0,6,0,0, 2,0) ~
(0,6,0,1,0,1)

B n=9lf > Ht7 58 LHf:

(5,0,0,1,3,0)~(5,0,0,2,1,1) ~ (5,0,1,0,1,2) ~ (4,0,1,3,1,0) ~ (4,0,2,0,3,0) ~
(4,0,2,1,1,1)~(3,0,3,2,1,0) ~ (3,0,4,0,1,1) ~ (2,0,5,1,1,0) ~ (1,0,7,0,1,0) ~
(5,1,00,0,3)~(4,1,0,2,2,0) ~ (4,1,0,3,0,1) ~ (4,1,1,0,2,1) ~ (4,1,1,1,0, 2) ~
(3,1,1,4,0,0)~(3,1,2,1,2,0)~(3,1,2,2,0,1) ~ (3,1,3,0,0,2) ~ (2,1,3,3,0,0) ~
(2,1,4,0,2,0)~(2,1,4,1,0,1)~(2,1,5,2,0,0) ~ (1,1,6,0,0,1) ~ (0,1,7,1,0,0) ~
(4,2,0,0,1,2)~(3,2,0,3,1,0) ~(3,2,1,0,3,0) ~ (3,2,1,1,1,1) ~ (2,2,2,2,1,0) ~
(2,2,3,0,1,1)~(1,2,4,1,1,0)~(0,2,6,0,1,0) ~ (3,3,0,0,2,1) ~ (3,3,0,1,0, 2) ~
(2,3,0,4,0,0)~(2,3,1,1,2,0)~(2,3,1,2,0,1) ~ (2,3,2,0,0,2) ~ (1,3,2,3,0,0) ~
(1,3,3,0,2,0)~(1,3,3,1,0,1)~(0,3,4,2,0,0) ~ (0,3,5,0,0,1) ~ (2,4,0,0, 3,0) ~
(2,4,0,1,1,1)~(2,4,1,2,1,0)~(1,4,2,0,1,1) ~ (0,4,3,1,1,0) ~ (1,5,0,1, 2,0) ~
(1,5,0,2,0,1)~(1,5,1,0,0,2)~(0,5,1,3,0,0) ~ (0,5,2,0,2,0) ~ (0,5,2,1,0, 1) ~
(0,6,0,2,1,0)~(0,6,1,0,1,1)~(0,7,0,0,0, 2)
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® n=10 IF > HFH 89 ZHfE:

(6,0,0,0,2,2)~(6,0,0,1,0,3) ~(5,0,0,3,2,0) ~ (5,0,0,4,0,1) ~ (5,0,1,0,4,0) ~
(5,0,1,1,2,1) ~ (5,0,1,2,0,2) ~ (4,0,1,5,0,0) ~ (5,0,2,0,0,3) ~ (4,0,2,2,2,0) ~
(4,0,2,3,0,1) ~ (4,0,3,0,2,1) ~ (4,0,3,1,0,2) ~ (3,0, 3,4,0,0) ~ (3,0,4,1,2,0) ~
(3,0,4,2,0,1) ~ (3,0,5,0,0,2) ~ (2,0,5,3,0,0) ~ (2,0,6,0,2,0) ~ (2,0,6,1,0,1) ~
(1,0,7,2,0,0) ~ (1,0,8,0,0,1) ~ (0,0,9,1,0,0) ~ (5,1,0,0,3,1) ~ (5,1,0,1, 1, 2) ~
(4,1,0,4,1,0)~ (4,1,1,1,3,0)~ (4,1,1,2,1,1) ~ (4,1,2,0,1,2) ~ (3,1,2,3,1,0) ~
(3,1,3,0,3,0)~(3,1,3,1,1,1) ~ (2,1,4,2,1,0) ~ (2,1,5,0,1,1) ~ (1,1,6,1, 1, 0) ~
(0,1,8,0,1,0) ~ (4,2,0,0,4,0)~ (4,2,0,1,2,1) ~ (4,2,0,2,0,2) ~ (3,2,0,5,0,0) ~
(4,2,1,0,0,3)~(3,2,1,2,2,0)~(3,2,1,3,0,1) ~ (3,2,2,0,2,1) ~ (3,2,2,1,0,2) ~
(2,2,2,4,0,0)~(2,2,3,1,2,0)~(2,2,3,2,0,1) ~ (2,2,4,0,0,2) ~ (1,2, 4,3,0,0) ~
(1,2,5,0,2,0)~(1,2,5,1,0,1) ~ (0,2,6,2,0,0) ~ (0,2,7,0,0,1) ~ (3,3,0,1,3,0) ~
(3,3,0,2,1,1)~(3,3,1,0,1,2) ~ (2,3,1,3,1,0) ~ (2,3,2,0,3,0) ~ (2,3,2,1,1,1) ~
(1,3,3,2,1,0)~(1,3,4,0,1,1) ~ (0,3,5,1,1,0) ~ (3,4,0,0,0,3) ~ (2,4,0,2,2,0) ~
(2,4,0,3,0,1) ~ (2,4,1,0,2,1) ~ (2,4,1,1,0,2) ~ (1,4,1,4,0,0) ~ (1,4,2,1,2,0) ~
(1,4,2,2,0,1) ~ (1,4,3,0,0,2) ~ (0,4,3,3,0,0) ~ (0,4,4,0,2,0) ~ (0,4,4,1,0,1) ~
(2,5,0,0,1,2)~(1,5,0,3,1,0) ~ (1,5,1,0,3,0) ~ (1,5,1,1,1,1) ~ (0,5, 2,2, 1,0) ~
(0,5,3,0,1,1) ~ (1,6,0,0,2,1) ~ (1,6,0,1,0,2) ~ (0,6,0,4,0,0) ~ (0,6,1,1,2,0) ~
(0,6,1,2,0,1) ~ (0,6,2,0,0,2) ~ (0,7,0,0,3,0) ~ (0,7,0,1,1, 1)

B on=110% > 5 118 4Hf#E:

(6,0,0,0,5,0)-(6,00,1,3,1)~(6,0,0,2,1,2) ~ (5,0,0,5,1,0) ~ (6,0,1,0,1, 3) ~
(50,1,2,3,0 ~(50,1,3,1,1) ~ (5,0,2,0,3,1) ~ (5,0,2,1,1,2) ~ (4,0,2,4,1,0) ~
(4,0,3,1,3,0)~ (4,0,3,2,1,1) ~ (4,0,4,0,1,2) ~ (3,0,4,3,1,0) ~ (3,0,5,0, 3,0) ~
(3,0,5,1,1,1) ~ (2,0,6,2,1,0) ~ (2,0,7,0,1,1) ~ (1,0,8,1,1,0) ~ (0, 0, 10,0, 1, 0) ~
(6,1,0,0,0,4)~(51,0,1,4,0)~(51,0,2,2,1) ~ (5,1,0,3,0,2) ~ (4,1,0,6,0,0) ~
(5,1,1,0,2,2)~(51,1,1,0,3) ~ (4,1,1,3,2,0) ~ (4,1,1,4,0,1) ~ (4,1,2,0,4,0) ~
(4,1,2,1,2,1)~ (4,1,2,2,0,2) ~ (3,1,2,5,0,0) ~ (4,1,3,0,0,3) ~ (3,1,3,2,2,0) ~
(3,1,3,3,0,1) ~ (3,1,4,0,2,1) ~ (3,1,4,1,0,2) ~ (2,1,4,4,0,0) ~ (2,1,5,1,2,0) ~
(2,1,5,2,0,1) ~ (2,1,6,0,0,2) ~ (1,1,6,3,0,0) ~ (1,1,7,0,2,0) ~ (1,1,7,1,0, 1) ~
(0,1,8,2,0,0)~(0,1,9,0,0,1) ~ (5,2,0,0,1,3) ~ (4,2,0,2,3,0) ~ (4,2,0,3,1,1) ~
(4,2,1,0,3,1)~ (4,2,1,1,1,2) ~ (3,2,1,4,1,0) ~ (3,2,2,1,3,0) ~ (3,2,2,2,1,1) ~
(3,2,3,0,1,2)~(2,2,3,3,1,0)~ (2,2,4,0,3,0) ~ (2,2,4,1,1,1) ~ (1, 2,5,2,1,0) ~
(1,2,6,0,1,1)~(0,2,7,1,1,0) ~ (4,3,0,0,2,2) ~ (4,3,0,1,0,3) ~ (3,3,0,3,2,0) ~
(3,3,0,4,0,1) ~ (3,3,1,0,4,0) ~ (3,3,1,1,2,1) ~ (3,3,1,2,0,2) ~ (2,3,1,5,0,0) ~
(3,3,2,0,0,3)~(2,3,2,2,2,0)~(2,3,2,3,0,1) ~ (2,3,3,0,2,1) ~ (2,3,3,1,0,2) ~
(1,3,3,4,0,0)~(1,3,4,1,2,0) ~ (1,3,4,2,0,1) ~ (1, 3,5,0,0,2) ~ (0, 3,5,3,0,0) ~
(0,3,6,0,2,0)~(0,3,6,1,0,1) ~ (3,4,0,0,3,1) ~ (3,4,0,1,1,2) ~ (2,4,0,4,1,0) ~
(2,4,1,1,3,0)~(2,4,1,2,1,1) ~ (2,4,2,0,1,2) ~ (1,4,2,3,1,0) ~ (1, 4,3,0,3,0) ~
(1,4,3,1,1,1) ~ (0,4,4,2,1,0) ~ (0,4,5,0,1,1) ~ (2,5,0,0,4,0) ~ (2,5,0,1,2,1) ~
(2,5,0,2,0,2)~(1,5,0,5,0,0) ~ (2,5,1,0,0,3) ~ (1,5,1,2,2,0) ~ (1,5,1,3,0, 1) ~
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(1,5,2,0,2,1) ~
(0,5,4,0,0,2) -~
(0,6,2,0,3,0) ~
(0,7,1,0,2,1) ~

=12 1§ >
(7,0,0,0,2,3) -

(5,0,0,7,0,0) ~
(5,0,1,5,0, 1) ~
(4,0,2,6,0,0) ~
(4,0,4,0,4,0) ~
(3,0,5,2,2,0) ~
(2,0,7,1,2,0) ~
(1,0,9,1,0, 1) ~
(5,1,0,3,3,0) ~
4,1,1,5,1,0) ~
4,1,3,1,1,2) ~
(2,1,5,3,1,0) ~
0,1,9,1,1,0) ~
4,2,0,5,0,1)~
(3,2,1,6,0,0) ~
(3,2,3,0,4,0) ~
(2,2,4,2,2,0) ~
(1,2,6,1,2,0) ~
0,2,8,1,0,1) ~
4,3,1,0,1,3) ~
(2,3,2,4,1,0) ~
(1,3,5,0,3,0) ~
(3,4,0,1,4,0) ~
3,4,1,1,0,3) ~
(2,4,2,2,0,2) ~
(1,4,4,0,2,1) ~
0,4,6,0,0,2) ~
2,5, 1,1, 1,2) ~
0,5,3,3,1,0) ~
(1,6,0,3,2,0) ~
0,6,1,5,0,0) ~
0,6,3,1,0,2) ~
0,7,1,2,1, 1) ~

(o 8,1,0,0,3)

7 166 AHfE:

(7,0,0,1,0,4) ~
(6,0,1,0,4,1)~
(6,0,2,0,0,4) ~
(5,0,3,0,2,2) ~
(4,0,4,1,2, 1)~
(3,0,5,3,0, 1)~
(2,0,7,2,0, 1)~
(0,0,10,2,0,0)~(0,0,11,0,0,1) ~(6,1,0,0,3,2) ~ (6,1,0,1, 1, 3) ~
(5,1,0,4,1, 1)~
(5,1,2,0,1,3) ~
(3,1,3,4,1,0) ~
(2,1,6,0,3,0) ~
(5,2,0,0,4,1)~
(5,2,1,0,0,4) ~
4,2,2,0,2,2)~
(3,2,3,1,2, 1)~
(2,2,4,3,0,1)~
(1,2,6,2,0, 1)~
(4,3,0,0,5,0) ~
(3,3,1,2,3,0) ~
(2,3,3,1,3,0) ~
(1,3,5,1, 1, 1) ~
(3,4,0,2,2, 1)~
(2,4,1,3,2,0) ~
(1,4,2,5,0,0) ~
(1,4,4,1,0,2) ~
(3,5,0,0,1,3) ~
(1,5,1,4,1,0) ~
0,5,4,0,3,0)
(1,6,0,4,0,1)
(1,6,2,0,0,3) ~
(1,7,0,0,3,1) »
0,7,2,0,1,2) ~

* P ARE R - n =13 FF

(1,5,2,1,0,2) ~
(1,6,0,1,3,0)
0,6,2,1,1,1) ~
0,7,1,1,0,2) ~

(ol 5’ 2I 4’ OI 0) N
( 1I 6’ OI 2I 1I 1) N
( 1I 7I OI OI 0I 3) N

(0,8,0,0,1,2)

(6,0,0,2,4,0) ~
(6,0,1,1,2,2)~
(5,0,2,1,4,0) ~
(5,0,3,1,0,3) ~
(4,0,4,2,0,2) ~
(3,0,6,0,2,1) ~
(2,0,8,0,0,2)~

(5,1,1,0,5,0) ~
4,1,2,2,3,0) ~
(3,1,4,1,3,0) ~
(2,1,6,1,1,1)~
(5,2,0,1,2,2)~
(4,2,1,1,4,0) ~
4,2,2,1,0,3) ~
(3,2,3,2,0,2) ~
2,2,5,0,2,1)~
1,2,7,0,0,2)~
(4,3,0,1,3,1)~
(3,3, 1,3, 1,1)~
(2,3,3,2,1, 1)~
0,3,6,2,1,0) ~
(3,4,0,3,0,2) ~
(2,4,1,4,0,1) ~
(2,4,3,0,0,3) ~
(0,4,4,4,0,0) ~
(2,5,0,2,3,0) ~
(1,5,2,1,3,0) ~
0,5,4,1,1, 1) ~
(1,6,1,0,4,0) ~
0,6,2,2,2,0) ~
1,7,0,1,1,2) ~
0,8,0,0,4,0) ~

23

29

(OI 5l 3l 1I 2’ O) N
(11 6I 1' OI 1I 2) N
(0,7,0,2,2,0)

(6,0,0,3,2, 1)~
(6,0,1,2,0,3) ~
(5,0,2,2,2, 1)~
(4,0,3,3,2,0) ~
(3,0,4,5,0,0) ~
(3,0,6,1,0,2) ~
(1,0,8,3,0,0) ~

5,1,1,1,3, 1)~
(4,1,2,3,1, 1)~
(3,1,4,2,1, 1)~
1,1,7,2,1,0) ~
(5,2,0,2,0,3) ~
4,2,1,2,2, 1)~
(3,2,2,3,2,0) ~
(2,2,3,5,0,0) ~
(2,2,5,1,0,2) ~
0,2,7,3,0,0) ~
(4,3,0,2,1,2) ~
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